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OBJECTIVE PART
Q No 1: Tick the correct Answer. (1x10=10)
S;' QUESTIONS (A) (B) ©) (D)
If A and B are two non-empty sets, then a Bi
: . inar y
. subset/R §:4 X B is cal[ed ’ | Mapping relatio):] Function Ordered pair
KT R C A X BI U rdonBaiA Sl e i e
¥ e
The factors of 3x2 — 7x — 20 are ......... ‘ \ ( ) ( ) ( )
- I B x—4), x+4), x —4), x+4),
2 -Lungpz LG A (3x +5) (3x - 5) (3x —5) (3x +5)
How many tangents can be drawn from a 1 2 3 4
3 point outside the circle?
_ugélgufuubir.ﬁ.{lﬁgég/’u
Which of the following sets have the {0} {0,—1} {0,1} 1
I | Y 1,V2,=
A closure property w.r.t. addition.......7 2
e Gk hesbirbof e gur L
If b2 — 4ac > 0and not a perfect square, then | Rational & | Irrational & Irrational & Rational &
. roots are.... unequal unequal equal equal
-ZU)’?L/U;!LJ&/JIA'I)Z —4ac>0/ b bt 41/,L’/;IJL'L‘/:; /,l/,/;lu"}’t/:; /,i/,/;lJJ’L’
Ifx,y,z€R,z<0,then,x<y=......... xz <yz Xz > yz Xz =Yyz None of
6 these
A frequency polygon is many sided Rectangle Square Closed figure Circle
7 vc‘-d/uﬁ}lféé‘(d'zm/?(:ﬁ sl &r S 2715
One angle on the base of isosceles triangle 30" 60° 90" 120°
is 30°, what is measure of vertical angle ....
8 | UL U130’ por L g b £ 2l EL Gl
?c‘-g/lﬁfd/é_;lj
The angle after one revolution is: ) 0 0 3 0 A 0
s . T+ T+ T+ T+
d Criim Ll Rad rad rad rad
In which quadrant 6 lies when
10 cosf8 <0,tanf <0 I . I v




Kt BcosH < 0,tan8 < 0.1

SUBJECTIVE PART

SECTION -1
Q2. Attempt all the following short questions: (08x02=16)
I.  Find standard deviation of data 11500,12400,15000,14500,14800.
L 1 A1 bl
ii. Factorize: x? — y* — 4xz + 4z*
274
iii. For what value of k is (x + 4) is the factor of x? + x — (2k + 2)
-q/r)"&f@@ﬁdm!ﬂ{é’d;xwﬁ
iv. What do you know about proper and improper fraction?
"ALJ/.l/ui' Sl ol Sl
v. Ifwvaries inversely as the cube of u, and w = 5 whenu = 3. Find w, whenu = 6.
¢ U=6 B ot d SWIU=32W=5 siny i F U ALUSW S|
vi. Define injective function?
P62
B (x@ a+b b b+c Lo\ Cta
vii. Show that: (x—b) X (F) (x_“) =1 g
viii. Prove that (1 — sin?0) (1 + tan?0) = 1. St
SECTION-II
Attempt all long questions. Marks:07
Q NO.3 (a) Solve the given equation: (04)
-q;d’fgblwérd)
4.22¥t1 _92*+1=0
(b) Resolve into Partial fraction
-q/‘}ffuﬁ/dfz
6x3 + 5x2-7
OX” Tox —7 (03)

3x2 -2x—1




